HVARRIE, oy /v RO RER

7yhNO  RFKCFS ¥AE  7=Av—F A—=#'=y/ ORG
Anethol(E) + p —anisaldehyde Tx)=E) + p—T=ATVT tN 88.870%
v —Himachalene e 112 3.150%
Carvone 2N 3.020%
Estragole TARNT =)L 1.380%
B —Himachalene B-t=hL 0.310%
2-Methylbutyrate isoeugenyl 2-AFNT FL—h AIHA =) 0.270%

a —Pinene R 0.010%



HVARRIE, oy /v RO RER

7yhNO  RFKBGS ¥AE  7=Av—F A—=#'=y/ ORG
Anethol(E) + p —anisaldehyde Tx)=E) + p—T=ATVT tN 84.560%
Carvone NV 4.630%
v —Himachalene ey 1 3.520%
Estragole TARNT =)L 0.900%
2-Methylbutyrate isoeugenyl 2-AFNT FL—h AV FA =V 0.610%
Limonene VeSS 0.420%
«a —Himachalene a-tvhs 0.320%
Linalool Jto—n 0.190%
Anethol(Z) T3)=Z) 0.090%
Sabinene Vb V2 0.040%
o —Terpineol a —TIWVE A=)V 0.020%

a —Pinene a-t v 0.010%



HVARRIE, oy /v RO RER

7yhNO  RFKBFS ¥AE  7=Av—F A—=#'=y/ ORG
Anethol(E) + p —anisaldehyde Tx)=E) + p—T=ATVT tN 87.510%
Carvone NV 4.140%
v —Himachalene ey 1 3.180%
Estragole TARNT =)L 0.790%
Limonene Ve 0.410%
2-Methylbutyrate isoeugenyl 2-AFNT FL—h AVHAN =) 0.390%
«a —Himachalene a-tvhs 0.300%
Linalool Jto—n 0.190%
Sabinene FEp 0.050%
Anethol(Z) 74— MZ) 0.030%
o —Terpineol a —TIVE A=)V 0.020%

a —Pinene a-t gtV 0.010%



HVARRIE, oy /v RO RER

7yNO  RFKBBS W4 7=Av—F A—#'=y/ ORG
Anethol(E) + p —anisaldehyde Tx)=E) + p—T=ATVT tN 88.850%
v —Himachalene v =bt<hlv 3.260%
Estragole TARNT2 =) 0.980%
2-Methylbutyrate isoeugenyl 2-AFNT FL—h AIHA =) 0.620%
Carvone UZN 0.510%
Limonene VeSS 0.300%
«a —Himachalene a-tvhs 0.280%
a —Terpineol a —TIWVE A=)V 0.260%
Linalool Vfro—n 0.190%
Anethol(Z) T =IZ) 0.140%
Sabinene A V2 0.120%
a —Pinene a-t gtV 0.010%

B —pinene B -ttt 0.010%



